@ @ WA Year 3 Home Learning Quiz
Friday 3rd July 15 mins

1 Spell the following words i
: 1) experiment :
: 2) complete :
13) continue |
| |
1 4) minute 1
| . |
; 5) peculiar !
16) pressure i
| |
17) various |
| |
5 8)- through ;
19) 45 + 5 = I
| |
110) 320 + 4 = i
i 11 ) Which calculation is the odd one out? i
i e t.he bus stop Explain your thinking. i
! method to help .
[ you. e N\ " |
I 64 -8 774 1
: i o i .
! 49+6 || 65+3 ’
| . ) J i
| |
| |
. 12). .
| |
| |
| |
| |



| |
| 13) |
| |
| |
| | | |
| |
| |
| |
| |
| |
i Joy hiked 90 kilometres in the past 10 days. She hiked the same distance every day. i
1 1 4) How many kilometres did Joy hike each day? 1
. kilometres .
| |
| |
| |
| |
| |
| |
| |
| |
115) 1
| |
| |
| |
| |
: 16) List 5 WOW adjectives that you can use to describe :
2 a character’s appearance. 2
| |
| . . . |
3 17) What is summarising? 1
| |
| |
11 8) What do bees collect from flowers? |
| |
| |
1 Give 1 example of a physical geographical feature. i
; 19) |
| |
! Where is Ben Nevis? !
120) ' |
| |



liZZ = Home Learning Answer Sheet
‘Answers, Friday 3rd July

11)-8)- Please refer to the questions section of the quiz.
i spellings
|
19) 45 +5=9
110) 320 = 4 = 80
1 1 1 ) t6hi Zd?i Z(:\L:(:)L?teas
| it is the only
calculation without
a remainder.

Make sure other
answers are
considered such
as 65 + 3
because it is the
only one being
divided by an odd
number.
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A group of 54 students wants to ride a roller coaster. If the cars on the roller coaster can
each hold 9 people, how many cars will the students need?

| Jcars
(54 +9 =6)

—
<

—
2

These will differ per child.

—
=

It is when you round up the information you have
read into a small amount of information.

—
*

Bees collect nectar from the flowers.

This will vary between household. You can have any of the following: sea,
mountain, river, forest, cliff, hill.

—
£

Ben Nevis is a mountain in Scotland.
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